1ISO9001:2000

Lony

N=t"
Bl @@ S &)
CHUAMNGYI PNEUMATIC

DNC Z 51| 1S06431 fRAESEL
DNC Series ISO6431 Standard Cylinder

JT945 | Ordering Code

- [613} X [5lo} [PlivJ -

g=)
' v

(s2)
|

BE i’ T8 Zm BARKS BHHEMKKE (|S2: WEEH
DNGC.: ZA&H Cvlinder Stroke =H: THEW =H: FRAER Especially K2 : ARCSMEF
HNC : z;mrrnnzm Bore PPV 4 A NBHIR Lengthen K3: Eﬁfm‘m%z
FNC: Rifaiiz= Buffer Maanet Code Lenath K5 SMRERA
ZNGF: Hi/a%ms Blank: Non Buffer Blank:Standard Type K8: fniKinZEHF
ZNCM: ?I‘Eﬂiﬂliﬁ PPV: Attach Buffer A:lnside magnet S2: Double Piston Rod
SNCB: BHE attach magnet K2: Lengthen Out Screw
SNCL: WHEE K3: Front In Screw Thread
Model K5: Out Standard Screw Thread
DNC: Fixed Type K8: LengthenPiston Ro
HNC: Axis Direction Foot Base
FNC: Front and Back Flange
ZNCF: Front and Back Axis Pin
ZNCM: Middle Axis Pin
SNCB: Single Earring Base
SNCL: Double Earring Base
4% | Specification

N 32 40 50

Bore (mm) 63 80 100
~

ﬁjf i Euem ZWEMES  Fitered Air

HMIER - i

Working Medium M= Double Action

SR E 5

Compression Pressure 1.5MPa

e RE N

Max.Operating Pressure 1.0MPa

=IETIEE S

Min.Operating Pressure 0.1MPa

2 o gms =orn .

fuffﬂfher SZm o) Air Buffer(Standard)

INERE .

Condition Temperature 5~60 €

EREE

Operating Speed 50~600mm/s

fri2iRE 0~250"%" 251~1000° 1001~1500 "5’

Margin of Stroke Error (mm) ° ° °

ERFH <

Operaling Life ANMET  Not less than 4000Km

g

ﬂfljlbﬁrlcale "EZE  Not Necessary+1.0

BEEOR ) . ” m

Joint Pipe Bore 1/8 1/4 3/8 1/2




1S09001:2000 Pl @ S nl)

CHUANGY| PNEUMATIC

Lony

DNC Z 51| 1S06431 kRAESEL

DNC Series ISO6431 Standard Cylinder

1732 | Stroke

RS FRAEITEE ZimiTiE BAITIREE NS LT R Hm/NTRE HIEF LB S
Bore | Standard Stroke Buffer Stroke Max.Stroke Range Bore Magnetism Switch Min.Stroke Magnetism Switch Type
32 32 32
20
40 25 40 50 80 40 40
KCK2400C
50 100 125 160 50 50
22 10~2000 (AR
63 200 250 320 63 63
Embedding Type
80 80 80
400 500 32
100 100 100

ZE#J& | Structure Drawing

-
F 143 | Part Sheet
Fij B Name ##4 Material Fij B Name ##4 Material
1 %l?ut? 35 12 Walgs]her Fa
2 :Esgto*rf Pot 45 13 ﬁﬁl{aﬁ\netlc i H{%8 Magnetic Plastic
3 gﬁfis Envelop PU 14 “(;)R‘;ngz i NBR
& ?uiiZe Envelop AR Oiliness Bearing iz Eﬁﬁiﬁa%d Back Piston L2
5 Pﬁovéittg 35 16 gio%%?;ilon Nut Ly12
6 Eﬁiﬁjt%Cover ZZnAl4-1 17 Bﬁaﬁf;inCover ZZnAl4-1
7 ?uﬁﬁij-\%proof Loop PU 18 Kﬂdﬁi?%\-/ralve Pin HPb59-1
8 4 IR PU
Buffer Airproof Spacer
9 gfu;qu]fr%iston POM
10 gIvﬁ]nder Canister AB063-TS
1| i NBR




1SO9001:2000 g-" 1 Dl
Chy CHUAJGYI F‘N;!-AEI'E

DNC Z 51| 1S06431 #RAESEL

DNC Series ISO6431 Standard Cylinder
HAR Base Type

SMF R~F | Overall Dimension

28+ L4
L2 L3+
D N C ' P PV'A AM WH L7 EE 8-D7 Sw2
Swi1 VD -‘
’&t-
A\

HE

o8d11
©D2f8
( )
ﬂ J
UEl
UL
0d:]
E

— S ) \
D!
L6 LS E
R~} 3 | Dimension Sheet
FAR 3 EE
Bore AM B D2 D5 | D7 E ©) J3 J4 KK L2 L3 L4 L5 L8 L7 I8 [SW1|SW2| VD [ WH | ZB
32 22 30 12 | 325 M6 45 1/8 6 52 [M10 X1.25|41.6 | 628 4 251 16 33 10 10 6 18 26 120
40 24 35 16 38 M6 54 114 8 6 M12 X 1.25| 44 77 4 296 | 16 36 |105]| 13 6 21.5| 30 135
50 32 40 20 | 46.5| M8 64 1/4 10 8.5 M16 X 1.5 51 78 4 296 | 17 51 1.5 17 8 28 37 143
63 32 45 20 | 56.5| M8 75 3/8 124 10 M16 X 1.5 | 54 87 4 356 | 17 6.6 15 17 8 28.5| 37 158
80 40 45 25 72 | M10| 93 3/8 | 12.5 8 M20 X 1.5 |62.4 | 952 4 359 | 17 |10.5|15.7| 22 10 | 34.7 | 46 174
100 40 55 25 89 | M10| 110 172 | 11.8| 10 M20 X 1.5 | 69.8 | 100.4 4 388 | 17 8 19.2 | 22 10 |138.2 | 51 189
l -
WEZEFE!  Double Piston Type
"/ . "
SMEZR~F | Overall Dimension
N -
5 TR o & - g
o I @ @ I S
v
ZB+ vD
L15++
HE - ’
Bore 5 VD 7B
32 30 46 18 120
40 35 165 215 135
50 40 180 28 143
63 45 195 285 158
80 45 220 347 174
100 561 240 382 189




- ®
1S09001:2000 g:' - ol 22 = =
chy CHLEJG%N%EFE

DNC Z 51| 1S06431 ¥RAESEL

DNC Series ISO6431 Standard Cylinder

SN2 R~} | Overall Dimension

XA+ AO

HNC...PPV-A o] B B

Axis Direction Foot Base

© e
o
o

@ PAS/ N
I
; b || 00 .
I
| s ) k T

4-OAB

c1 TR

SA+ E

JR~}3% | Dimension Sheet

WA

Bore AB AH AQ C1 E H1 SA TR XA
32 7 32 6.5 30.5 45 5 142 32 144
40 10 36 9 37 54 5 161 36 163
50 10 45 105 41.5 64 6 170 45 175
63 10 50 125 445 75 6 185 50 190
80 12 63 15 56 93 6 210 63 215
100 14.5 71 175 58.5 110 6 220 75 230

"/ . .

S R~F | Overall Dimension
FNC...PPV-A B, FiEZ  nuss s .
- — ([ Y
- ﬁ] ~ A/ = i 20 22 CECES S + GoFB

Front and Back Flanae _ —

=5 0 0
L o) 3} )_5 @ C) i

1 © | O
| | 7/

W H3

ZF+
i SELSEZEEERET R AGB70-85 M

WA ,

Bore E2 FB Hi3 H3 R F UF w ZF
32 50 7 10 32 64 80 16 130
40 55 9 10 36 72 90 20 145
50 65 9 12 45 90 110 25 155
63 75 9 12 50 100 125 25 170
80 100 12 16 63 126 154 30 190
100 120 14 16 75 150 186 35 205




1SO9001:2000 g-'. 21 Dl
0hy CHUAJGYI F‘N;!ﬂgﬂ

DNC Z 51| 1S06431 #RAESEL

DNC Series ISO6431 Standard Cylinder

SMF2 R~F | Overall Dimension

ZNCF...PPV-A BIEHtH
Front and Back Axis Pin

T6

(

| (\ @3;_'@ ;
| ;_@ @ ;

[4

)

IWa Y|
| |
E

@TD

2-9TD

,
A
=3
J_k
28
BR |-

L11+

R~ | Dimension Sheet

3
EBI({; & Cc2 C3 E G4 G5 J6 L10 L11 S7 S8 T4 5 6 T7  |TDewH7| TL ™
32 71 86 45 32 46 16 18 128 6.6 1 15 18 6.8 10.5 12 12 50
40 87 105 54 36 55 20 20 145 9 15 18 21 9 12 16 16 63
50 929 17 64 36 55 24 25 155 9 15 18 21 9 12 16 16 75
63 116 136 75 42 65 24 25 170 " 18 20 23 " 13 20 20 90
80 136 156 93 42 65 28 32 188 1 18 20 23 1 13 20 20 110
100 164 189 110 50 75 38 32 208 14 20 25 28.5 13 16 25 25 132

SMF2 R~F | Overall Dimension

LY
ZNCM...PPV-A  [E]5HH SR
Middle Axis Pin Lo = ) )
M M 1 g =
L= =70
o _Tr o gs_g.@& .
U - 7@ : I @ ! ﬁ
— i i
U U W D@ | F
T
5 | uw
FARES
Bore C2 C3 J5 L8 L9 TD evrH7 TL ™ uw XV
32 71 86 30 79.9 66.1 12 12 50 65 73
40 87 105 32 894 75.6 16 16 63 75 82.5
50 99 17 34 94 4 83.6 16 16 75 95 90
63 116 136 41 101.9 93.1 20 20 90 105 97.5
80 136 156 44 118.1 103.9 20 20 110 130 110
100 164 189 48 126 2 1138 25 25 132 145 120




. ®
1S09001:2000 g:' ; )l 22 = =
chy CH&JG%N&E’E

DNC Z 51| 1S06431 ¥RAESEL

DNC Series ISO6431 Standard Cylinder
52 R~ | Overall Dimension

SNCB...PPV-A 2 E

Sinale Earring Base

H2 ®CD

cB XD+

SNCL...PPV-A S E FE3H [o] B2 B2

Axis Direction Foot Base

H2 PCD
L
| XD+
R~F3 | Dimension Sheet

W

Bore CB CcD E3 H2 L MR uUB XD
32 26 10 55 6 13 10 45 142
40 28 12 63 6 16 12 52 160
50 32 12 71 7 16 12 60 170
63 40 16 83 7 21 16 70 190
80 50 16 103 10.5 22 16 90 210
100 60 20 127 10.5 27 20 110 230






